BEFEAXHBEIER
£ 1 B BI7TA6H(%®)]
[FSvoDER] _
0B |tEs (e 8 A RN 1=

118 |J$£5000mWiR | 1 9|  15:00 X 1HEZmMEX
2|Z&  |JB3000mWiR 1 1 15:35
3|8 JABOOMF| 2(37%+2) 9|  16:00 BF 41ERB 1304
458 JB3000miR { 1~2 (84 5—2) } 79 16:20 XF 45EH 654

3 16:50
5|%& JB3000mik| 1 23| 1705 i  8fEH 1954
6| & JA3000miR| 2(41LL—2) 30| 17:20
UE: JAB00m;R 17:50
8|%& 5000miR| 1 11 18:00
958 5000miR| 1 33| 18:25

% 2 B BU7ATE(D)]
[r5vo D8] [Z4—ILFDEIEE B
B |15 (e 8 auEEM 1w | e e E A (B g
E:S 10000mWiR| 1 2| 10:00 118 |#& =) B 7| 10:30
2| & +FE100mH| 1 3| 11:10 2|8 |&E 1z Bl 16| 1030
3|8 +#E100m| 1 1 11:20 3B |+ ¥ E 18 OB 1| 12:00
4% 4x100mRF| 2(35&F+2) 12| 11:25 4k Lt EE S B 3| 1200
55 4x100mRF| 2(35&F+2) 13|  11:35 558 |J B £ W@ By 11| 1330
6|%& 800m¥F| 3(25&+2) 24| 11:45 6% |+ E &S B 11 14:30
UE:] 800m¥F| 2(37&F+2) 13| 12:00 7% |J B E W@ BY 12| 1530
8|%& 400mHF| 2(35%&+2) 10|  12:15 8|k |&E 2 B 14| 15:30
95 400mHF| 2(35%&+2) 16| 12:30
10|%& JB200m¥| 2(35%E+2) 13| 1245
1|8 JB200m¥| 2(35%E+2) 10| 12555
12|%& 200m¥F| 3(25&+2) 20| 13:05
13|18 200m¥F| 3(25&+2) 24| 13:20
14|58 JB80OMIR| 3(44AL—2R) 19|  13:35
15|%& 800m;R 14:00
16|58 800mik 14:10
17| & JB200miR 14:20 [Z4—IVFDEKETE)
18|58 JB200miR 14:25 . B2 RS
19|% 200miR 14:30 IR |15 78 A szl | B
20|58 200mik 14:35 118 | Y # 10| 1030
21| & 400mH;R 14:45 2|&  |Fa A &% 8| 10:30
22|58 400mH;R 14:55 3B |\ A &% 5 12:00
23|18 3000mSCiR| 1 22|  15:05 48 A @ A #® 6| 12:00
24|%& +3&200m| 1 3| 15:20 5% |t & | A & 3| 14:00
258 JA5000mR | g 1 15:30 6% |+ & fa h & 1| 14:.00
{2(94A|/—x) } 66| 1555 & |® Y # 6| 16:00

3 16:20
26|58 +3&400m| 1 1| 16:45 X 2BEZEMEX
27|%& 4% 100mR3R 16:55
28|38 4% 100mRiR 17:05 BF 151H 242%&((JL—13)
29| & 10000miR| 1 3| 17115 ZF 1218 1014 (JL—12)
308 10000miR| 1 16|  18:00

it

2788 343%& (1)L —25)




% 3 B B(7AsH(A)]

[FSvoDER] [Z4—IVFDERI(BE B8
IE |teR (e 8 A |EEM 1w | e e e au (B g
1158 10000mW3R| 1 4 9:00 11z |t & & & Bk 3| 10:00
2|8 4Xx400mR¥F| 2(375+2) 9| 10:10 2|l& |FE =) Bk 8| 10:00
3|8 JB11OmHF| 2(35%+2) 10| 10:30 3B |= E% Bl 13| 12:30
4|8 +3#E110mH| 1 1 10:45 48 |+ E#E 5 B 1| 13:30
5|5 110mH¥F|  2(375+2) 9| 1055 5|8 |&E =) Bk 13| 14:00
6|5 100m¥F| 6(275&+4) 42| 11:05 6|Z |= 129 Bk 2| 1500
718 100m¥F| 4(27&) 30| 11:30
MWHERER 11:50~
8|%& 1500m¥F | 2(45%5+4) 33|  12:00
9|3 JH1500miR| 43 AL-R) 81| 12:20
10|% 400m¥| 2(35%+2) 12| 1255 [Z4—IVEDRRI(HETE)
1|3 400m%| 3(27+2) 20| 1305 I | H£51 128 A ;gngl B
= JA100mF| 2(355+2) 9] 1315 1% |H i #| 10| 10.00
12|58 JA100mF|  4(27&) 25|  13:25 2|18 |vB A #& #& 6| 11:30
13|18 100m#E|  2(37&+2) 13:35 I i #® 3| 11:30
14|% JE400miR|  2(814LL-R) 11 13:45 48 |+ E M B & 1| 12:30
15|58 J#400miR|  2(44LL-2R) 16|  13:50 5% |t & v Y & 3| 1330
16|%& 400m3R 14:05 6|8 [N v T — & 2| 14:30
17|88 400m3R 14:10 7NBE (JENVT—8 7| 14:30
18|%& 1500miR 14:20 8|18 |+ & v Y & 1| 15:00
19|58 1500miR| 1 12| 14:30 o9&k | v T — B 1] 15:30
20| & JA100miR 14:40
21| 8 JA100miR 14:45
22| & 100miR 14:50 X ABHESMEH
23|58 100m;iR 14:55 BHF 1558 253%(1JL—9)
24| % JB100mYHR| 1 7| 15:.05 ZF 12%H 1404 (JL—5)
25|%& 100mHR| 1 8| 1510 it 273B 393%&(UL—14)
26| 8 JB110mH;R 15:20
27| 8 110mH;R 15:25 X HREsmEH
28|%& +#E800m| 1 3| 1535 BHF¥ 343 B 6254((JL—22)
29|58 +#81500m| 1 1 15:45 LZF 28%B 3064 (JL—17)
ENHERERX 1555 i 6238 9314 (JL—39)
30| % 4Xx400mR3R| 1 5/ 16:10 (931+39 x 6=11654)
31|18 4 X 400mRiR 16:20 HWSMMHHIE 11654




